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Multiple Choice
1) Which could you use to deterrrys_ghe_me_as_u;_e of an angle in a triangle if you only know all three sides?
a) Sine Law b) Cosine Law H\u c) Tangent Ratio d) Sine Ratio
s = B 3 -l
2) If/agglq A is obtuse, which is positive? .S%_
a) sinA b) cosA c} tanA d) none
Long Answer }ﬁ% :
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4) How do you decide when to use the Sine Law or the Cosine Law to solve a triangle problem? Give

examples to illustrate your explanation. LMC‘ 35idos, |

5) A car windshield wiper is 22 inches long. Through which angle did the blade in this diagram rotate?
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&) On what bearing will the boat travel on its way back to the starting
point? T

b) How faris the boat from the starting point?

€) What assumptions did you make to answer parts a and b?
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